
Axis Credenza 1200 Two Levels 



Left (X) & Right (Z) Side Panel

Parts:

Top Panel Bottom Panel

A Z

X

G

D

E

Back Panel Moveable Shelf 

V1

V2

2 x Front Panel



Parts:

Pre-Installed Parts:

Cam

c5

16 - 6 x 35mm Cam Bolts 16 - 8 x 30mm Dowel Pin 16 - 5/8" Cam Cover

c1 d1 c2

s1

5 - Threaded Dowel Pin

p1

12 - M4 x 20mm Screw

4 x Metal Feet

s2

16 - M3.5 x 15mm Screw4 X Hinge & Mount Plate



Step 1

4 - 6 x 35mm Cam Bolts 4 - 8 x 30mm Dowel Pin

c1 d1

X

Z

V1

V2

s2

16 - M3.5 x 15mm Screw

s2

d1

c1



Step 2

12 - 6 x 35mm Cam Bolts 12 - 8 x 30mm Dowel Pin

c1 d1

A

G

c1

d1



Step 3 Step 3.1

c2

4 - 5/8" Cam Cover

c2
D

D

X X

Z
Z



Step 4 Step 4.1

12 - 5/8" Cam Cover

D

X

ZA

G

A

G

D

X

Z



Step 5

s1

12 - M4 x 20mm Screw



Step 6

5 - Threaded Dowel Pin

p1

E



Step 7

V1

V2

V1

BD

BE

BF

B

1: LOOSEN "B" SCREW
2: ADJUST DOOR VERTICAL
3: TIGTHEN "B" SCREWS AGAIN

B

1: LOOSEN SCREW "A"
2: ADJUST DOOR IN DEPTH
3: TIGTHEN SCREW "A" AGAIN

1: LOOSEN SCREW "A" 
2: ADJUST DOOR SIDEWAYS WITH SCREW C
3: TIGTHEN SCREW "A" AGAIN

A
A

C



Complete


